AMENDMENT-1

Tender Notice No: PLN-CO-23-2017-18

Tender Serial No: 28

Sub:- Consider below Schedule-B instead of previous Schedule-B

Schedule - B

(Schedule of rates and prices)

ERECTION & DISMANTLING OF LT LINE AND FIXING LT ABC FOR UNDER THARA & BHABHAR SDN OF RADHANPUR DIVISION FOR IPDS SCHEME .

		Supply Erection	on	Grand					
Sr. No.	Item Description	Uni t	Qty.	Unit Rat e in Rs.	Total Amt. in Rs	Qt y.	Unit Rate in Rs.	Total Amt. in Rs	Total Amt. in Rs.
1	2	3	4	5	6	7	8	9	10
1	ERECTION OF PSC POLES OF 8 Mtr X200 KG INCLUDING EXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OF CROSS ARMS, TOP FITTING CLAMPS ANTI-CLIMBING DEVICES, INSULATORS ETC, COMPLETE AND PAINTING OF FABRICATED MATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINTS AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SET AND EARTING. Code No.9902010001	NO	0	0	0	25	675	16875	16875
2	ERECTION OF PSC POLES OF 10 Mtr X 270 KG INCLUDING EXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OFCROSS ARMS, TOP FITTING CLAMPS ANTI-CLIMBING DEVICES,INSULATORS ETC, COMPLETE	NO	0	0	0	10	1815	18150	18150

	AND PAINTING OF FABRICATEDMATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINTS AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SET AND EARTING. Code No.9902010002								
3	ERECTION OF GUY SET INCLUDING EXCAVATION OF PITS & REFILING OF EARTH AS PER STANDARD SPECIFICATION WITH STAY CLAMPS, STAY WIRE ANCHOR ROD, TURN BUCKLE, EYEBOT, GUY INSULATORS, CEMENT CONCRETE BLOCK ETC, BUT EXCLUDING CONCRETING. Code No.9902040001	NO	0	0	0	50	315	15750	15750
4	ERECTION OF GI PIPE/GI COIL/CI PLATE TYPE EARTHING INCLUDING COST OF COAL SALT ETC.BUT WITHOUT COST OF PIPE/GI COIL/ GI PLATE, GI WIRE AS PER STANDARD SPECIFICATION. Code No.9902040002	NO	00	0	0	50	350	17500	17500
5	CONCRETING OF POLES, GUYS, ETC. INCLUDING COST OF CEMENT SAND METAL (1:2:4) AND WATER ETC. AS PER STANDARD SPECIFICATION. Code No.9905010001	CU. MT R	0	0	0	1	5900	5900	5900
6	Dismentalling of conductor 34/55sqmm & crediting store No.9907000009	KM R	0	0	0	30	620	18600	18600
7	Dismentalling of PSC Pole 8 mtr with crediting & stacking of pole at safe and on road side Code	NO	0	0	0	20	465	9300	9300

	No.9907000017								
8	Dismentalling of PSC Pole fabrication & credit at store No.9907000017	NO	0	0	0	20	95	1900	1900
9	Laying of arial bunch cable (1c 35+25 sqmm) With Fitting all Asseccoriy 9913000016	KM	0	0	0	30	4400	132000	132000
10	Laying of arial bunch cable(3c35+16+25sq mm) With Fitting all Asseccoriy 9913000017	KM	0	0	0	12	11000	132000	132000
	DEAD END CLAMP FOR ABC	NO							
11	CONDUCTOR	NO	250	135	33750	0	0	0	33750
	2601000134								
12	Cumblum for Stringing of Conductor 2601000139	NO	500	38	19000	0	0	0	19000
13	INSULATED SUSPENSION CLAMP WITH HARD WARE	NO	200	150	30000	0	0	0	30000
	2601000136								
14	Crimping Of Insulated Mid Span Joint For ABC	NO	200	135	27000	0	0	0	27000
	9911000162								
15	Piercing clamp suitable for LT Arieal bunch XLPE	NO	350	60	21000	0	0	0	21000
	0414000002								
	TOTAL(A)				130750			367975	498725
	BIDDER'S OFFER (+/-) IN %(B)								
	GRAND TOTAL C / A +/- (A*B)								
	GST@18% (D=CX18%)								

GRAND TOTAL INCLUDING GST(E=C+D)				
FINAL OFFER IN RS.				
(INWORDS)				

Superintending Engineer, Palanpur, Circle office.

Executive Engineer UGVCL, DO,RADHANPUR.